HERE(CDULT

XMHER - FFEENIEE ISR 55608300 £7,

1 HR (¥)
INFEE FR 2 B = F &b
BER (SBHE) 8:40 8:40 8:40
1 8:50- 9:35 8:50- 9:40 8:50- 9:40
2 9:40-10:25 9:45-10:35 9:45-10:35
3 10:35-11:20 10:40-11:30 10:40-11:30
4 11:25-12:10 11:35-12:25 11:35-12:25
BE - B 12:10-13:15 12:25-13:15 12:25-13:15
5 13:15-14:00 13:15-14:05 13:15-14:05
6 14:05-14:50 14:10-15:00 14:10-15:00
TR (S B¥) 15:10 15:10 15:10

2 B5fEE (1)
UNEEE 3 F)

A X 7K PN i

HELEEDES H*E (FADEH)

i

®E B E ZB|E &R E
xr
=]

AEEET

REIf | BED | 50 4

Nl W|IN| =

It

E-S E R B | mEIe | 2FFE

Ul
m
i
HF

j o

(S350 1 &)

A X 7K ZN &

RIEEB(MN-200") /58)iEEN(SHR)

B 18 E & 0T

oz |\ == &

I

Nl W|IN| =
aun
H
>
e

o Bam
chad BIES n % B
O 5 M

YERIEE

Ul

o

=
B
[

x | S

%%%i

¥ =

6 R

TRk 31F1H 11 H

(e85 1 £

A N 7K N &

1 HELREDIEE /{R#EAE (FADES)
2 | B &8} % i E I G
3 & E =5

R U SR S [ e
T ¥ B
HE - BiRH

; R ONAR 15
5 | B 2 B oflye o uEE?‘ B RI5E 8
e k B|E 8|5 [Brer
6 |x E DR | o 35 &

<BE(CDWLT>

ORI EFRPEREZMICE DV HREFD
FE
- FHEH
(B B8/ %F BX #hF HEIE /XM
EE, BIEE, HAEE
BHEFEEEOELER
(EFETFE, FXFES)

Of%£EME (12a7)
INSEHS - 45 53, T - B : 50 4

RIEIT AR SZIRFR - FRERE



